A& ol &b A & Al A
20219 = =0l &t 2B A
& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
E5 Al 322,364,410 330,291,651 AT,927,241
100 X1 Al=¢ 23,160,000 23,810,000 650,000
110 XAl 23,160,000 23,810,000 A 650,000
111 ESAl 22,613,000 23,350,000 AT737,000
111-03 =2l Al 824,000 784,000 40,000
[ 23 ] 824,000 784,000 40,000
< MSL > 824,000 784,000 40,000
Ooods= 274,000
=Jf @l 10,000 = 16,000l CH 160,000
oASHE 50,000 = 1,3000H & 65,000
oy ¢ 49,000
-4 el 50,000& = 5700H & 28,500
-4 el 100,000& » 1504 & 1,500
-4 e 200,000& * 90H & 18,000
-4 el 500,000& » 200 & 1,000
O &= 250 = 520,000m 130,000
osgaE:= 84,000,000,000& * 5/1,000 420,000
111-04 TH &AM 4,096,000 3,967,000 129,000
[ et A ] 4,096,000 3,967,000 129,000
< ML > 4,096,000 3,967,000 129,000
OFHAESE MAtAl 2,097,000
=6,0002t& Ol ==&
18,596,493& * 19,0004 = 2.4/1,000 848,000
©6,0002t& 0l& ==
52,490,423% = 1,800 * 2.9/1,000 274,000
cditAERZ A RFUAME
53,191,491& = 4,700 * 3.9/1,000 975,000
OEXE THa&Al 1,999,000
oSggut 181,666,667,000& * 3.6/1,000 654,000
o8 gt 308,333,334,000& * 3.6/1,000 1,110,000
o Zel Al 138,235,295,000& * 1.7/1,000 235,000
111-05 Xt= XtAl 6,520,000 7,660,000 A1,140,000
[ Letsl A ] 6,520,000 7,660,000 A1,140,000
< ML > 6,520,000 7,660,000 A1,140,000
Os8Xsit 240,600& = 13,45004 3,236,070




& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
Osg st 62,500& = 800CH 50,000
Ost= s 33,5003 = 3,100CH 103,850
OIJIA &8I 84,0003 = 120CH 10,080
OoFdz 260,000,000& = 12& 3,120,000
111-07 St A HIAl 3,500,000 3,586,000 286,000
[ 2etsl A ] 3,500,000 3,586,000 A 86,000
< ML > 3,500,000 3,586,000 A 86,000
Ot 2l Al 1,007 = 3,475,671& 3,500,000
111-08 Xl & A HI Al 3,243,000 3,243,000 0
[ el A ] 3,243,000 3,243,000 0
< M > 3,243,000 3,243,000 0
Ozgdd SE3H H& HE 2d=2 3,243,000
111-09 X &S Al 4,430,000 4,110,000 320,000
[ 2etsl A ] 4,430,000 4,110,000 320,000
< ML > 4,430,000 4,110,000 320,000
OASE 2,150,000
oTYALSE 5,500,000,000& = 10/100 550,000
oA ASE 2,600,000,000& = 10/100 260,000
oHASE 13,400,000,000& * 10/100 1,340,000
OSgax==2 2,280,000
oSEdx2 22,800,000,000& * 10/100 2,280,000
M3 A =+g 547,000 460,000 87,000
113-01 AtE =+ 547,000 460,000 87,000
[ et A ] 547,000 460,000 87,000
< ML > 547,000 460,000 87,000
OXdEE =g 547,000
o AL Al 45,583,334& * 123 547,000
200 A2l 32,344,479 37,398,816 A5,054,337
210 & HAN A+ 8,343,226 8,931,506 A 588,280
211 THAH O ==& 384,471 381,246 3,225
211-02 SR MU= 384,471 381,246 3,225
[ et A ] 384,471 381,246 3,225
< UHXHED > 10,500 0 10,500
OMEBIEH SR dUHAESZ 10,500
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: 200 M4
2 210 BAFMASY
& 212 AlBE2Y (2l &)
H-a-8.-5 Oll &FoH & & 0] A oH Hlw =2t
212-07 YE2 4+ 1,246,000 1,516,000 A 270,000
[ 23 ] 1,246,000 1,516,000 A270,000
< 23D > 125,000 300,000 A 175,000
O8ds=2 282 115,000
O2s=s2 2H (I3 YE2 10,000
< SHAED > 1,000 1,000 0
OnNHELE LER 1,000
<BHIFAHMFHYE 2 > 1,000,000 1,000,000 0
OYHZ +¢ 20,0002 = 100,000 * 50% 1,000,000
< EHEQAZRIALA > 120,000 215,000 A 95,000
OnNMUKAALES2 AFZ L HE2 50,000
Osgergn A&z L HER 70,000
212-09 JIEIAIRE 581,240 805,990 A 224,750
[ Lersl A ] 581,240 805,990 £224,750
< AL > 325,190 423,690 £A98,500
OF2HELE2 AB2 1,500
OsEE ABR 51,000
o 2K 100,0008 = 3007 30,000
o2te 700,0009 * 30| 21,000
OZ2Q2 A2 272,690
ogZotR ™ 2,306,000& * 107 23,060
S=g=1= 863,0008 = 107] 8,630
B HDH 1,230,000 = 407 49,200
o Z oS (2HLH) 113,0008 = 1507 16,950
o ZorE(2+9]) 600,0008 = 207] 12,000
CZ0otE ERCH(2LY) 500,0008 = 107] 5,000
CZ0otY BRCH(29) 1,000,000 * 57 5,000
cdBtR A 24| 1,098,000 = 507 54,900
oXAZX (MNA-ZLH) 502,0009 = 40| 20,080
oXHAZX (Mel-22) 1,202,0002 = 107 12,020
o XA (22-2U) 1,004,000 = 307 30,120
oXAHEX (22-22) 2,382,0008 * 157 35,730
< BF25Y > 27,250 64,500 A37,250
O80s=2 T2 20,000




&: 200 AlQl4el
2 210 BAFAL LY
B 212 NBE4Y CEERED
Z.2-8-2 Ol &k o8 B ol by Bl =2

ogoYx a8 2,250
oML ANEBE 5,000

< AE=ML > 17,800 17,800 0
o&dJE MEZ 3,900
OsEgdIE 150,000& = 83l 1,200
OUXT&CFE 45,0003 * 2.53] = 304 * BIHE 2,700
oNsZ NEE 2,800
OLNEMs2 300,000& = 62l 1,800
O¥&Ms2 100,000& = 53] 500
OEHH=s2 100,000& = 53] 500
OAZ=IMIA MEE 2,200
o=+ 45,0003 * 13| = 8 & 360
o"HuA® 15,0003 * 23| » 8IH & 240
OO0k & 20,000& = 23] = 84 & 320
OaUoI2sd 10,0008 * 2A12 » 82 » 8IHE 1,280

<sduMdEn > 201,000 300,000 299,000
OLIATNHSLE AIEE 200,000
OCLANHSAE =X3 1,000

< sgllsdH > 10,000 0 10,000
OsJIHEUMNERZ 10,000

213 =28 2,080,440 2,180,735 A 100,295

213-01 X< 117,120 123,120 A 6,000

[ LBt3IAH ] 117,120 123,120 A 6,000

< FOIMETRAD > 9,000 9,000 0
OAZMAAL MDD Y It 9,000

< QA > 93,696 99,696 A 6,000
OJIEFAAHNESEA 1,000& * 3,00024 124 36,000
OMEEE 1,000& = 500 124 6,000
OFUSESEzE2 =5 400& = 5,000A 128 24,000
OZEZELZ =2 600& = 2,000 128 14,400
OXsisE 8,256
oM ASE 2,000& = 130A 124 3,120
o0IdEE 1,000& = 250A 124 3,000
cUASE 1,000& * 100A 124 1,200




09 i 0

200 Al2l=+=¢
210 o HAM A=
213 A A2 AO|

Zg-2-g-5 Off &4 & E 0l At Hr&E2
oHAsS=E 1,308 + 602 « 12 936
ONEXHS=EAL 3008 * 35021 * 122 1,260
ONSHESES WuT 70080 = 45021 * 122 3,780
<ABXEY > 14,424 14,424 0
OA=SHE 50080 * 20021 * 122 1,200
OEX (o) THE 50080 = 85021 * 12 5,100
OX = (o) & 70080 = 17024 * 122 1,428
OMEBAIXO} ol 8008 * 302 + 12 288
OHIZSESYN 1,0008 + 102 « 12 120
ORSHEEBL(58) 1,50080 = 15021 * 122 2,700
ovsesE AF M 6,6008 = 1521 + 129 1,188
OEXNO0ISHE stol 1,0008 = 20021 * 122 2,400
213-02 MEBHIISHL42 672,920 759,615 186,695
[ 2ersl ] 672,920 759,615 186,695
<EFBSW > 672,920 759,615 186,695
0222 ZSYNSE BN 522,889
=51 912 + 8,000% 728
> 104 17380+ 57,000% 9,861
=204 3378 = 500,000% 168,500
=50 8108 * 189,000% 153,090
o754 1,320% * 60,000% 79,200
> 1002 1,503% * 70,000% 111,510
OSASRHIIE +H8 HYLS 150,031
o3 (HFE) 642 * 39,000% 2,496
o50 (1HE) 91% « 18,000% 1,638
=200 (It B) 3379 = 7,000% 2,359
=604 (IHE2) 1,0108 + 790% 797
o100 (1) 2,02180 * 24,000% 48,504
o208 (Y22) 7928 * 11,000% 8,712
o604 (P22) 2,376% * 14,000% 33,264
o1200 (YAE) 4,75190 « 11,000% 52,261
213-03 MESE4IN B4 120,000 120,000 0
[ 2ersl ] 120,000 120,000 0
<BFBEW > 120,000 120,000 0




: 200 M4
2 210 BAFMASY
8 213 2424 CHel M)
-z Oll &FoH & & 0] A oH Hlw =2t
OMEERE +HEMHSY 10,000,0008 * 12%& 120,000
213-04 BAQ2 242 141,900 118,000 23,900
[ 23 ] 141,900 118,000 23,900
< BAHA > 141,900 118,000 23,900
O RS LA (LY, &te, AASX 18,000
OLUBAAMSY (S 5) 6,000
Oz HYEs+Y 58,000
ONEZEY H4 L ¢34 40,000
OFLLAN A X2 18,700
OMZEATZA TR 1,200
213-05 JIEt &8 1,028,500 1,060,000 A31,500
[ Lersl A ] 1,028,500 1,060,000 A31,500
<P > 25,800 40,200 A 14,400
oolzaez +4+2 2,000,0008 * 12 24,000
OXFR24 Qg2 150,0008 = 12% 1,800
< BZ25Y > 900 4,800 3,900
OHESHETHL42 900
< SHAYFY > 5,000 11,000 6,000
OsX2dsda 203 5,000
<EBABLSY > 804,000 810,000 6,000
OUgmIIE & 2,500,000 * 12 30,000
OKIMUHE S Bt 334,000
o Bt 40,0009 = 8,000 320,000
CEHEES(+EHY) 40,0009 * 350E 14,000
OALAE B2 440,000
SN 40,0009 = 3,000 120,000
o EFXI XHA 80,0008 * 4,000 320,000
< EAA > 192,800 194,000 A1,200
OBAA TR BUL424 80,000
OFALAX A &2 B 90,000
OMZEEATZA &g 2 22,800
214 At 20,520 10,440 10,080
214-01 AbL & A Ab 4= 20,520 10,440 10,080
[ 283 A ] 20,520 10,440 10,080
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200 Al2l=+=¢

210 o HAM A=

214 A2 (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2

< gXtel B M > 9,000 9,000 0
OFXNINSAE H2=XE 2L AL =2 4,000
ONESsd Heaed MEd Tif= 5,000

< EBIESH > 11,520 1,440 10,080
OaZ Al d5Tif+=g 80& = 12,000kwh » 123 11,520

215 d=nf=+Y 289,360 295,900 26,540

215-01 w23+ 289,360 295,900 26,540

[ L3I ] 289,360 295,900 26,540

< ML > 254,460 252,000 2,460
OFHSA 7,369,000,000& = 3/100 221,070
OSSHslA 951,000,000& = 3/100 28,530
OXISETHA AL A 54,000,000& =* 3/100 1,620
OXgEE =g 108,000,000& * 3/100 3,240

< QAT 22l > 16,900 16,900 0
OdtEAEZ 16,900

< ESAIESH > 18,000 27,000 29,000
OdNeRrE= 200,000,000& * 9/100 18,000

216 Ol Xt==¢ 3,605,000 3,605,000 0

216-01 S0 S0l X+ 3,600,000 3,600,000 0

[ Letsl A ] 3,600,000 3,600,000 0

< 2 > 3,600,000 3,600,000 0
O330U =0 Xt 3,600,000
=& J|0l =0l Xt 3,570,000
o2 S0 =0k 30,000

216-03 JIEHOI Xt ==& 5,000 5,000 0

[ el A ] 5,000 5,000 0

< M > 5,000 5,000 0
ONENEAB S OlX=+ 5,000

220 SAIHAN2A =L 23,873,253 28,348,110 N4,474,857

221 THAHOH 2 == ¢ 320,000 320,000 0

221-03 SR MHAMH2 =S 300,000 300,000 0

[ et A ] 300,000 300,000 0

<2 AL > 300,000 300,000 0
OAl=TH & O 2t 300,000
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200 Al2l=+=¢
220 SAIHAN LA+
221 THAHDH 2t ==&

H-a-8.-5 Oll &FoH & & 0] A oH Hlw =2t
221-04 E22W2AUZ 20,000 20,000 0
[ 23 ] 20,000 20,000 0
< FADB} > 20,000 20,000 0
oss3M 20,000
222 TtXISHHZ RS2 434,000 1,109,000 AB75,000
222-01 XX S22 434,000 1,109,000 AB75,000
[ Lersl A ] 434,000 1,109,000 A675,000
<BBLBSY > 434,000 1,109,000 AB75,000
OSIISHNHAHOI2IASH ALY (2 X 5}) 434,000
224 J|EF 22,919,253 26,719,110 23,799,857
224-05 NYNRMLLEEE 4+ 2,700,000 0 2,700,000
[ 25 ] 2,700,000 0 2,700,000
< M3 > 2,700,000 0 2,700,000
OXgAHAH ot22% & J|E 2,700,000
224-06 9o 3 10,000 10,000 0
[ 23 ] 10,000 10,000 0
< FAD} > 10,000 10,000 0
OHIStol8 Rt HHa2 10,000
224-07 194 20,209,253 26,709,110 6,499,857
[ 25 ] 20,209,253 26,709,110 26,499,857
< MXEHD > 125,793 334,750 A 208,957
02020 2XIIHE AIgSH2Z 6,000
02020 =X8 24243 2,000
OUNERS 243 Yo3 e 117,793
< MR > 25,000 2,600,000 A2,575,000
OAZ2D ALY 25,000
< 3D > 47,000 35,000 12,000
OZE A LHE 2IIRIA 47,000
< gX2FM > 100 0 100
OMATAIIZE 2ACIAIRA Al 2 U2 2 BHNEE
100
<AEFEE > 19,732,000 23,532,000 3,800,000
OLIME HIAXA WL 19,732,000
<AEXNY > 225,000 100,000 125,000
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200 Al2l=+=¢
220 SAIHAN LA+
224 JIEt==¢

Z2-2-8-5 Oll &F o & E 0l At Hr&E2
OXNAEMEAEES 1,500,000& * 1502 Xl 225,000
<RAFAENHMIHE 2 > 54,360 99,360 A45,000
OFALEH+HA AIEZ 70,0002 = 43 » 12& 3,360
Ostll A E A= 150,000& = 300 45,000
Oy 33e= 500,000& = 12 6,000
225 X &2 200,000 200,000 0
225-01 AAE =gl 200,000 200,000 0
[ L3I ] 200,000 200,000 0
< ML > 200,000 200,000 0
OXgtEE =g 200,000
230 NLHEMM - 203 128,000 119,200 8,800
231 &= 13,000 13,000 0
231-01 &3 13,000 13,000 0
[ el A ] 13,000 13,000 0
< QA > 5,000 5,000 0
ORES28X HA=s 5,000
< MRS X > 2,000 2,000 0
OFax"=EsY EtUE= 500,000& * 49 2,000
< AB2o > 3,000 3,000 0
OANSAHY 2ALH0 HE Hd= 2,000
OStHatdg 28t0 HE &= 1,000
<sEMEY > 3,000 3,000 0
OsidE OlZH= 3,000
232 012 M= 14,700 14,700 0
232-01 Ol 2 X = 14,700 14,700 0
[ LEH3IAH ] 14,700 14,700 0
<AEXNEHIY > 14,700 14,700 0
OAF0IdHZHS 1,050,000& = 14 14,700
234 MEHZE 100,300 87,000 13,300
234-01 A2 A UE = 67,000 0 67,000
[ Letsl A ] 67,000 0 67,000
< QIR > 67,000 0 67,000
OXtsXtEoti a2 LU= 34,000
OXtsxt2eld et = 33,000




200 Al2l=+=¢

09 i 0

230 NSHIMM - Fut=

234 WEHE (2l &)
H-a-8.-5 Oll &FoH & & 0] A oH Hlw =2t

234-02 JIEFHER 33,300 87,000 A53,700

[ Letsl A ] 33,300 87,000 A53,700

< RIAY > 1,200 68,500 AB7,300
OJNEZZH WEN2 30,0008 * 40A 1,200

< ME=EXD > 6,500 6,500 0
OFMAZHRA L WENZ 6,500

<EgPBSY > 13,600 0 13,600
O BEz ¢ 13,600
oft+TY AR 500,0008! * 4A 2,000
ol AENY 9Lt 1,000,0008 * 42 4,000
oHJI2Z2lY <BHel 160,000 » 102 1,600

cALMHIIS MESS E SISt lENE

00,0008 * 32 6,000

<AESNHD > 12,000 12,000 0
ORSAaNHY XA 12,000

300 Xl m Al 132,303,000 136,472,000 A 4,169,000

310 X gn=2A 132,303,000 136,472,000 A4,169,000

311 XY w2 Al 132,303,000 136,472,000 A 4,169,000

311-01 ESREA 117,303,000 127,953,000 | A 10,650,000

[ 23 ] 117,303,000 127,953,000 A 10,650,000

< JIE2AAA > 117,303,000 127,953,000 A 10,650,000
OESn=2A 117,303,000

311-03 S MR 2A 15,000,000 8,500,000 6,500,000

[ 2uetg ) ] 15,000,000 8,500,000 6,500,000

<IIEAAA > 15,000,000 8,500,000 6,500,000
ORSHuA 15,000,000

400 2 N2 E 9,061,192 8,997,897 63,295

420 Al - 2EH DR 3E 9,061,192 8,997,897 63,295

421 Al - 2EHDE3S 9,061,192 8,997,897 63,295

421-01 Al - DL EFH DS 9,061,192 8,997,897 63,295

[ 25 ] 9,061,192 8,997,897 63,295

< IIEAAA > 9,061,192 8,997,897 63,295
oYt ¥ L3 9,061,192

500 EX3 108,295,739 106,412,938 1,882,801

510 2DLE X3S 83,847,938 79,261,881 4,586,057
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X 500 BE2
B 510 2NEEZS
s: 511 FNEXIS (el &)
F.2-8.2 Oll &k ot T E =0l At o HRE2

< AbE= X1 37,412,370 34,090,716 3,321,654
O8I 2 Mol 230,958
OZolol 25X 30X 777,740
OBES2 X420 4,857
OFOHQ =ATYSAIL 2| 4,000
OX Ko =X L Xtel X & 149,737
OZFofolyets U Xtel Xl & 169,439
OO QI AIZH L X2l X & 52,530
OAIZEE 0§ ol oFOFAHTHA 13,445
OFofHIX 1,099,661
ORI ES=S\=1CIED 110,471
OFM+2(XH4S) 141,374
OZEofeloZH X & 46,245
OXASZ 00Ol X SHH| L 2 AFHI XI & 1,165
OFNMALEI XL 3,040
OLYTHE HHIAHHR AL 40,837
OGAZAEAH XA 2,100
OO0l0lE2 MHlA X2 235,093
OLogxtel & ASIE#SXY =0 4,897,090
OANZ=2HE X 295,202
OZ2Y dugy ¥ 2=y X 63,586
OJE2 X2 21,538,088
OF0IATSAE HHIBZ 3,080
LOIYE EEMHIAMY 29 1,114,330
OUENESSME A L 294 X 28,320
OXHOotSHE 25t X2 451,860
OSHY XNAOSHMEH =KL 5,049
OXSOotSHE AWMLY X 25,000
OO=E=SXRA X 127,300
oo2olE X 37,500
OANZH BSABIA XA 22,940
OYRIEEE N 1,593,592
22 2UHIS 29 X 750
OESnZE A K& 1,585,312
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A 160,700
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